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HFE=

Ze
[

£
#=3.5.1(1) #HMFFTEER (BERVRMBEXEERERFTEM) [THMD IMBEFICEITHIHRDAERER—E
30mIEF C3
W Ca—1 C3—2 C3-3 C34 C3-5 C3-6 C3-7 C3-8 C3-9
ZE | 22 [wm| no | 2E wm| ano | 22 wm| ano | 22 em| sno | 2E em| sno | 25 wm sno | 2E em oano | 2E wE 8o | 22 wE | 80
m) |apm B BE |qpm |BEH| BE |qpm |EP| BE |qpn |BEP| BE |qpm |BEP| BE |qpm |BEP| BE |qpm |BEP| BE |qpm |BEF| BE |qpn |EF| BE
0.15 318 |t 0 323 |+ 0 332 |+ 0 259 |+ 0 269 |EL 0 289 |+ 0 269 |+ 0 277 |#+L 0 343 |+ 0
1.0 233 |+ 0 238 |+ 0 247 B+ 1 174 |8+ 0 184 |iE+ 0 204 |1B+ 0 184 |+ 0 192 |8+ 0 258 |1+ 0
2.0 133 |+ 0 138 |+ 0 147 |11 0 074 |+t 0 084 |1E+ 0 104 |1+ 0 084 |+ 0 092 |t 0 158 |1E+ 0
3.0 033 |+ 0 038 |+ 0 047 |+ 0 -026 |+ 0 -0.16 |+ 2 004 |+ 0 -0.16 |1+ 0 -0.08 |+ 0 058 |+ 0
40 | 067 [®x| 0 | 062 [®x| 0 | 053 [®x]| 0 | 126 [®x]| 0 | 116 [@BE| 0 | 096 |#E| 1 | 116 [@E£]| 0 | 108 [#E| 0 | 042 [EL| 0
5.0 -167 |+ 0 -162 |+ 0 -153 |#+ 0 -226 | B& 0 -216 | B 0 -196 |#+ 0 -216 | B 0 -208 | BA 0 -142 |+ 0
6.0 36 [B&| 0
7.0 -4.16 | A& 0
8.0 -5.16 | B 0
9.0 616 |E%| 0
10.0 -7.16 | B& 0
30mIEF E3
W ] E32 E33 E34 E3-5 E36 E37 E38 E3-9
ZE | 22 (wm| no | 2Z wm| ano | 22 wm| ano | 22 em| ano | 25 em| sno | 25 wm 8o | 25 wE 8o | 2E wE| 820 | 2Z wE | #R0
(m) |apm B BE |qpm |BEH| BE |qpm |EP| BE |qpm |BEP| BE |qpm |BEP| BE |qpm|BEP| BE |qpm|BEP| BE |qpm |BEF| BE |qpn |EF| BE
0.15 357 |t 0 365 |+ 0 376 |+ 0 340 |+ 0 349 |E+ 0 353 |+ 0 337 |+ 0 3.41 #+ 0 344 |1B+% 0
10 | 272 [Bx]| 0 | 280 [®x| 0 | 201 [®Et]| 0 | 255 |®Et| 0 | 264 |®t| 0 | 268 [®L| 0 | 252 [®t| 0 | 256 |®t| 0 | 259 [®t| 0
2.0 172 |81 0 180 |+ 0 1.91 #t 0 155 |1+ 0 164 |1E1 1 168 |11 0 152 |+ 0 156 |+ 0 159 |+ 0
3.0 072 |+ 0 080 |1+ 0 0.91 il 1 055 |+ 0 064 |+ 0 068 |+ 0 052 |+ 0 056 |+ 0 059 |+ 0
40 | 028 (L] 0 | 020 [BL]| 0 | 009 [®E| {1 | 045 | 0 | 036 [EL| 0 | 032 L] 0 | 048 || 0 | 044 |[EBE| 0 | 041 L] 0
5.0 136 [Bx| 0
6.0 236 [B1] 0
7.0 336 81| 0
8.0 436 [B1| 0
8.5 486 [BE] 0
30mIEE E6
e E6-1 E6-2 E6-3 E6-4 E6-5 E6-6 E6—7 E6-8 E6-9
RE ‘ifg HRE | mED §§ HRE | RO ?§§ HE | R0 f,fg R | mED ;?';g | mED §§ HE | RO ?§§ HE | R0 f,fg HE | RO ‘ifg HRE | mED
(m) |rpm) |BEP| BE |(7pm|EF| BE |qpm B BE |[qpm |ER| BE | 0 |EF| BE |qpn)|EF| BE |qpn |ER| BE |qpn|BEF| BE |qpn BF| EE
0.15 334 |1E+ 0 335 |+ 0 339 | Bt - 368 |+ 0 371 il 0 354 | % 0 3.01 #t 0 291 1+ 0 289 | Bt -
0.5 299 |t - 300 |+ - 304 | BT - 333 |+ - 336 |t - 319 | B+ 0 266 [T - 256 |+t - 254 |+ -
1.0 249 |1+ 1 250 |+ 0 254 |+ 0 283 |+ 0 286 |t 2 269 |t 0 216 |+ 0 206 |+ 0 204 |1+ 0
1.4 209 |iE+ - 210 |+ - 214 |1+ - 243 |t - 246 |1EB+ - 229 |t 0 1.76 |iE+ - 166 |iEL - 164 |1B1 -
2.0 140 [#x] 0 | 150 [#x| 0 | 154 |®E| 0 | 183 [#x| 0 | 186 [#Bx| 0 | 169 |®E| 0 | 116 [#x| 0 | 106 [#Bx| 0 | 104 |EBE| 0
30 | o049 [#+| 0 | os0 [#+| 0 | o054 [@+| 0 | 083 [#+| 0 | oss [@+| 0 | oeo [@+| 0 | ot6 |#x| 0 | 006 |@x| 0 | 004 |EE| 0
4.0 S04 [BE] 0
5.0 -1.14 |18+ 0
6.0 214 [Bx] 0
7.0 s (@1 0
7.6 374 [BE] 0
30mIEE E8
e E8-1 Es—2 E8-3 E8-4 E8-5 E36 E8—7 E88 E8-9
BE ‘i_'fg HE | mED §§ HE | RO ?§§ HE | R0 ;ifg | mED ;?';g HRE | RO §§ HE | RO ?§§ HE | R0 ;ifg HE | R0 ‘i_fg HE | mED
(m) |apm | EH| BE |qpm BEH| BE |qpn |EF| BE |qpn | EF| BE |qpny EF| BE |qpn |EF| BE | qpn |EF| BE | qpn | EF| BE |qpn, |EF| BE
0.15 288 |t 0 297 |+ 0 295 | Bt - 289 |+ 0 296 |1+ 0 294 | Bt 0 285 |+ 0 295 Bt - 291 Bt -
0.5 253 |+ - 262 |+ - 260 |BT - 254 |+ - 2.61 Bt - 259 | B+ 0 250 |+ - 260 | BT - 256 | @t -
0.9 213 1B+ = 222 |1+ - 220 |+ - 214 |1+ = 2.21 Bt 0 219 |t 0 210 |+ - 220 B+ = 216 | ®t =
1.0 203 |t 0 212 |+ 0 210 |+ 1 204 |+ 1 2.11 piihe ot 1 209 |+ 0 200 |+ 0 210 |#E+ 1 206 |iE+ 1
2.0 108 [#x] 0 | 112 [#x| o0 | 110 |®E| 0 | 104 [®x| 0 | 111 [#Bx]| 0 [ 109 [®E| 0 | 100 [#x]| 0 | 110 [Bx| 0 | 106 |EBE| 0
3.0 0.03 B 0 0.12 B 0 010 |+ 0 0.04 BHA 0 0.11 B 0 009 |+ 0 0.00 B 0 0.10 |+ 0 0.06 B 0
4.0 -0.89 | BA 0
5.0 -1.89 | BR 0
6.0 -289 | A& 0
7.0 -389 | BR 0
8.0 -489 | BRA 0
9.0 -589 | B& 0
10.0 -6.89 | B& 0
30migF F4
s FA—1 F4—2 F43 Fa4 F4-5 F4-6 Fa—7 F4-8 F4-9
#E | 22 [wm| nno | 22 e ago | 22 ew| ago | 22 [ew| so | 22 em| sno | 25 we| smo | 2 em osno | 25 weE| s2o | 25 eE 820
(m) |rpm) |BEP| BE |1pm|EF| BE |qpm B BE |qpm |EP| BE |10 |BEF| BE |qpn|BY| BE |qpmn |BEP| BE |qpm|BEF| BE |qpn BF| BE
0.15 304 B+ - 298 |t - 327 | Bt - 298 |B&t = 329 B+ 0 360 |t - 323 | Bt - 344 |BEL = 376 |BEt =
0.5 269 |EL - 263 |1 - 292 | Bt - 263 |#E#EL - 294 |+ 0 325 | Bt - 288 | BT - 309 | Bt - 341 Bt -
0.7 249 |8+ - 243 |8+ - 272 | B+ - 243 |+ - 274 | Bt 0 305 | B+ - 268 | B+ - 289 | B+ - 321 | Bt -
1.0 219 Bt 0 213 il ol 0 242 #+ 0 213 1+ 0 244 Bt 0 2.75 Bt - 2.38 #+ 0 2.59 mt - 291 mt -
2.0 119 |8+ 1 113 |+ 1 142 |#+ 0 113 |8+ 1 144 |18+ 0 175 |+ 0 138 |+ 1 159 |iE+ 0 1.91 b ol 0
2.3 0.89 biile ol - 0.83 biile ol - 1.12 it - 0.83 1+ - 1.14 il 2 1.45 biile ol - 1.08 il - 1.29 piiha nt - 1.61 bl ol -
2.4 079 |##E+ - 073 |+ 1 102 |#EL - 073 |t - 104 |+ - 135 |+ - 098 |+ - 119 |+ - 1.51 Bt -
30 | o1 [®E| 1 013 |BL] 1 042 x| 0 | o013 [BE| 1 044 || 0 | o |EE| 1 038 [®t]| 1 050 || 0 | oo [®x| 0
40 -0.81 |+ 0 -0.87 |+ 1 -058 |+t 0 -087 |#E+L 1 -056 |+t 0 -0.25 |+ 1 -062 |#EL 1 -041 |+ 0 -0.09 |+ 0
5.0 Si56 [BE] 0
6.0 -256 |+ 0
7.0 356 (81| 0
8.0 -456 | BR 0
9.0 -556 | B 0
10.0 -6.56 | B 0
30mIEF F5
2 F5-1 F5-2 F5-3 F5-4 F5-5 F5-6 F5-7 F5-8 F5-9
ZE | 22 (wm| nno | 2Z (wm| ano | 2 wm| ano | 22 wE| ao | 25 eE| 8o | 25 wE 80 | 25 wE o8R0 | 25 wE 8R0 | 2Z wE | #R0
(m) |apm|BEH| BE |qpm |EF| BE |qpm |EF| BE |qpn|EF| BE |qpn|BH BE |qpn |BF BE |qpn |BY BE |qpn B BE |[qpn B BE
0.15 334 | Bt - 352 | B+ - 375 | B+ - 330 | B+t = 357 | @+ 0 3.74 | B+ - 340 | BT - 357 | B+t - 3.7 Bt -
0.5 299 | B+ - 317 | B+t - 340 |+ - 295 | B+ - 322 | Bt 0 339 | B+ - 305 |B+ - 322 | Bt - 336 |t -
1.0 249 | B+ - 267 |t - 290 | B+ - 245 | B+ - 272 | @t 0 289 | BT - 255 | B+ - 272 | Bt - 286 |t -
1.4 209 |+ = 227 |1+ - 250 | Bt - 205 |+ - 232 |t 0 249 | Bt - 215 |+ - 232 |+ - 246 |Et =
2.0 149 |+ 0 167 |#EBx 0 190 |+ 0 145 |18+ 0 172 |#B% 0 189 |+ 0 155 |+ 1 172 |8+ 0 186 |1E+ 0
30 | o4 [#x] 0 | 067 [t o0 | oso |®t| 0 | o045 [®x]| 0 | o7z || o0 | oss |®t| 0 | os5 |[#E] 1 072 |Bx| 0 | os [®x| 0
4.0 -051 |1+ 0 -033 |1+ 0 -0.10 |1+ 0 -055 |18+ 0 -028 |+t 0 -0.11 |18+ 1 -045 |1+ 1 -028 |+ 1 -0.14 |18+ 0
5.0 -151 |#+ 0 -133 |#+ 0 -1.10 |8+t 0 -155 |+ 0 -1.28 |#+ 2 -1.11 |#+ 1 -145 |18+ 0 -1.28 |+ 1 -1.14 |+ 0
6.0 -251 |8+ 0 -233 |+ 0 -2.10 |+ 0 -255 |+ 0 -228 |+ 0 -211 |#+ 0 -245 |8+ 0 -228 |+ 1 -2.14 |8+ 0
7.0 -351 | B 0 -333 |#+ 0 -3.10 |#+ 0 -355 | B& 0 -328 |+ 0 -3.11 |+ 0 -345 | B 0 -3.28 |+t 0 -3.14 |+ 0
8.0 428 [B1] 0
8.4 468 [BE] 0
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LASPEF
#3.5.1(2) #HHGHESLZE (BERVEBEFRERRFTEM) [CHND IMEFICEITIHRDAERR—E

30miEF F6

s F6-1 F6-2 F6-3 F6-4a F6-5 F6-6 F6-7 F6-8 F6-9
ZE | ZE wm| nno | 2E wm| ongo | 2E wm| oaso | 2E wm| owso | 2E wm| wgo | 2E wm| mRo | 2F wE| 80 | 2E @] 80 | X | wE| B0
m) |apm BE?| BE |qpm EF| BE |qpn |EF| BE |qpn | EF| BE |qpn EF| BE |qpn |EF| BE | qpn |EP| BE | qpy EF| BE | qpn, |EF| BE
0.15 348 | Bt - 355 |EE+ - 372 Bt - 371 | Bt - 373 [t 0 373 | Bt - 288 | Bt - 287 | @t - 294 [+ -
0.5 313 | B+ - 320 | B+ - 337 | B+t - 336 | ®L - 338 | B+ 0 338 | @+t - 253 | @+ - 252 | @+ - 259 |1+ -
1.0 263 | Bt - 270 | Bt - 287 |B@E - 286 | B®L - 288 | Bt 0 288 | B+ - 203 |#B+% 0 202 [#B+% 0 209 |+ 0
15 213 |+ - 220 |+ - 237 |8+ - 236 |+ - 238 | Bt 0 238 |+ - 153 |+ - 152 |18+ - 159 |iEt -
20 163 |+ 0 170 [#+ 0 187 [+ 0 186 |8+ 0 188 |#+ 2 188 |[#+ 0 103 |+ 0 102 [#+ 1 109 [#+ 1
3.0 063 |+ 0 070 |#E+ 1 087 |#+ 1 086 |+ 0 088 |+ 0 088 |+ 0 003 |+ 0 002 |+ 1 009 |E+ 0
4.0 -037 [#+ 0 -030 |#+ 1 -013 [#+ 1 -014 |#+ 0 -012 [#+ 0 -0.12 [#E+ 0 -097 [#+ 0 -098 |#+ 0 -091 [#+ 0
5.0 -1.12 |8+ 0

6.0 -212 |18+ 0

7.0 -3.12 |8+ 0

1.2 -3.32 |18+ 0
30miEF G4

s G4-1 G4-2 G4-3 G4-4 G4-5 G4-6 G4-7 G4-8 G4-9
ZE | ZE wm| nno | 2E wm| onso | 2E wm| onso | 2E wm| ongo | BE wm| wmo | 2E wE| #Ro | AE w8 | 80 | AE | wE| 80 | X |wE| 80
(m) |7pm) |BP| BE |(7pm|BF| BE |qpm B BE |[qpm |BEP| BE |qpm | BP| BE |qpm |BP| BE |qpm|BP| BE |qpm BP| BE |qpn, BP| BE
0.15 374 | Bt - 405 | Bt - 421 | B+t - 391 | B+t - 405 | B+ 0 422 | Bt - 380 |+t - 3.98 | Bt - 419 | B+ -
0.5 339 | Bt - 370 | B+ - 386 | B+ - 356 | B+ - 370 | @+ 0 387 |®Et - 345 |EB+ - 363 | Bt - 384 | Bt -
1.0 289 | B+ - 320 [EEt - 3.36 | Bt - 306 |EEt - 320 Bt 0 337 | Bt - 295 |EEE - 313 | Bt - 334 | Bt -
15 239 | Bt - 270 | B+ - 286 |+ - 256 | B+ - 270 | B+ 0 287 | Bt - 245 |B+ - 263 | Bt - 284 | Bt -
1.8 209 |#+ - 240 |#B+ - 256 |18+ - 226 |B®E - 240 | B+ 0 257 | @+ - 215 |B@+E - 233 | Bt - 254 | B+ -
20 189 |#+ 0 220 |18+ 0 236 | 1B+ 0 206 | L - 220 |18+ 0 237 |8+ 0 195 |+ 0 213 | @®E - 234 |18+ 0
25 139 [#+ - 170 [#+ - 186 |+ - 156 |#+ - 170 |[#+ 4 187 |[#+ - 145 |[#+ - 163 |[#+ - 184 [#+ -
2.6 129 |+ - 160 |+ 2 176 |+ - 146 |+ - 160 |#E+ - 177 | B+ - 135 |+ - 153 |#+ - 174 | B+ -
2.7 119 |#+ - 150 |+ - 166 |t - 136 |+ - 150 |+ - 167 |#B+L 4 125 |+ - 143 |+ - 164 |1EL -
29 099 |#+ - 130 |[#+ - 146 |+ - 116 |8+ - 130 |[#+ - 147 [#B+ - 105 |[#+ - 123 |+ 2 144 | B+ -
30 089 |1+ 2 120 |[#+ 3 136 |+ 2 106 |1+ 0 120 |+ 0 137 |8+ 1 095 |1E+ 0 113 |18+ 0 134 |+ 0
4.0 -0.11 |8+ 1 020 |+ 0 036 |+ 1 006 |E+L 0 020 |+ 0 037 |+ 0 -0.05 |iE+ 0 013 |#B+ 0 034 |+t 0
5.0 -0.80 |+ 0

6.0 -1.80 |+ 0

7.0 -2.80 |1+ 0

8.0 -380 |+ 0

9.0 -480 | B& 0

10.0 -580 | B#& 0
30miEF G5

= G5-1 G5-2 G5-3 G5—4 G5-5 G5-6 G5-7 G5-8 G5-9
ZE | ZE wm| onno | ZE wm| owmo | 2E wm| nso | 2E lwm| owso | BE wm| wso | 2E wE| mmo | 2E wE| 880 | AE | wE| 80 | AE |wE| 80
(m) |apm B BE |qpm EF| BE |qpn |EF| BE |qpn |EF| BE |qpn | EF) BE |qp |EF| BE | qp |EF| BE |qpn | EF) BE |qp, EF) BE
0.15 380 |+t - 388 | @t - 405 | @+ - 374 | B®E - 394 |t 0 420 | @+ - 382 | @t - 397 | Bt - 422 | B+ -
0.5 345 | Bt - 353 | @+t - 370 | B+t - 339 |E@t - 359 | Bt 0 385 | Bt - 347 |B@E - 362 |EE - 387 | Bt -
1.0 295 |B&+ - 303 | B+ - 320 |EE - 289 | Bt - 309 | B+ 1 335 |E+ - 297 | Bt - 312 | &t - 337 | ®t -
15 245 | BE - 253 | @*E - 270 | @E - 239 | BE - 259 | ®* 1 285 |E@*E - 247 |BE - 262 |BEE - 287 | ®E -
20 195 |[#+ 0 203 |#+ 0 220 |18+ 0 189 |+ 0 209 | B+ 1 235 | @+ - 197 |[#+ 1 212 [+ 0 237 |#+ 2
2.4 155 |18+ - 163 |18+ - 180 |+ - 149 |+ - 169 |28t 0 195 |18+ - 157 |8+ - 172 | #+ - 197 |8+ -
3.0 095 |18+ 2 103 |+ 2 120 [#+ 2 089 |+ 1 100 [#+ 4 135 |[#+ 2 097 |+t 1 112 [#+ 0 137 [#+ 2
4.0 -0.05 |8+ 1 003 |#E+ 1 020 |+ 2 -011 |8+ 1 009 |E+ 0 035 |#E+ 1 -0.03 |+ 0 012 |E+ 0 037 |#E+ 0
5.0 -105 [#+ 0 -097 [#+ 1 -080 |+ 0 111 | #+ 0 -091 [#+ 0 -065 [#E+ 1 -103 [#+ 0 -088 |+ 0 -063 |#+ 0
6.0 -191 |1+ 0

7.0 -291 |18+ 0

8.0 -3.91 |+ 0

9.0 -491 |18+ 0

9.7 -561 |18+ 0
30migF G7

Hhga G7-1 G7-2 G7-3 G7-4 G7-5 G7-6 G7-7 G7-8 G7-9
ZE | 2E [wm| nno | ZE wm| ago | 22 wm| ago | 22 bem| ano | 2 bem| sno | 2E em so | 25 em osno | 2E wem 8o | 22 wE o820
m) |apm B BE |qpm |BP| BE |qpm) |BD| BE |qpm | BEP| BE [qpm|EH) BE |qpn |BP| BE |qpn) |BP| BE |qpm BEP| BE |[qpm|EH) EBE
0.15 299 | B+ - 302 | Bt - 308 | Bt - 297 |BE - 302 | B+ 0 FEEEES - 300 | Bt - 304 | &L - 319 | B+ -
0.5 264 | Bt - 267 |+ - 273 | B+ - 262 | Bt - 267 Bt 0 276 | Bt - 265 | Bt - 269 | Bt - 284 |+ -
0.8 234 | BEx - 237 |+ - 243 |8+ - 232 |BE - 237 | Bt 0 246 | B+ - 235 | B+ - 239 | Bt - 254 | B+t -
1.0 214 |18+ 0 217 |18+ 0 223 |1B% 0 212 | Bt - 217 |18+ 0 226 |1B% 0 215 |B@E - 219 [#8+% 0 234 | Bt -
20 114 [ 8@+ 0 117 |[#+ 0 123 |[#+ 0 112 [ 8@+ 0 117 |[#+ 0 126 |#E+ 2 115 |[#+ 1 119 |8+ 0 134 |+ 0
3.0 014 |18+ 0 017 |18+ 0 023 |18+ 0 012 |1+ 0 017 |#+ 1 026 |1+ 1 015 |1B+f 0 019 |#+ 0 034 |+ 1
4.0 -0.86 |+ 0 -0.83 |+ 0 -0.77 |+ 0 -0.88 |+ 0 -0.83 |#+ 0 -074 |+ 0 -0.85 |+ 0 -0.81 |+ 0 -0.66 |+ 0
5.0 -186 [#E+ 0 -183 [+ 0 -177 [#+ 0 -188 |+ 0 -183 [+ 0 -1.74 [#B+ 0 -185 [+ 0 -181 [#+ 0 -166 |#+ 0
6.0 -2.83 |1+ 0

7.0 -383 |iE+ 0

8.0 -4.83 |iE+ 0
30mi&F G8

g G8-1 G8-2 G8-3 G8-4 G8-5 G8-6 G8-7 G8-8 G8-9
ZE | 22 [wm| nno | 2Z wm| ano | 22 wm| ano | 22 em| ano | 2E em| sno | 25 wm sno | 25 em oano | 2E wE| 8o | 22 wE o820
m) |apm | BE?| BE |qpm |BEH| BE |qpm |EP| BE |qpn |BEP| BE |qpm |BEP| BE |qpm|BEP| BE |qpm |BEP| BE |qpm |BEF| BE |qpn |EF| BE
0.15 303 | B+ - 307 | @+t - 319 | B+t - 309 |EE - 300 |E+ 0 317 | @+t - 307 | @+t - 312 | Bt - 317 | B+ -
0.5 268 | B+ - 272 | B+ - 284 | Bt - 274 | BE - 265 | B+ 0 282 | @+ - 272 | Bt - 277 | Bt - 282 | B+ -
1.0 218 |#+ 1 222 | Bt 234 |B@E - 224 |E&E - 215 | B+ 0 232 |18+ 0 222 |1+t 0 227 [#8% 0 232 |#+ 0
1.3 188 |+ - 192 |18+ - 204 |BE+ - 194 |18+ - 185 | @+ 0 202 |18+ - 192 |+ - 197 |8+ - 202 |18+ -
20 118 |+ 0 122 [#+ 1 134 |+ 0 124 |8+ 0 115 |#+ 0 132 |+ 0 122 |+ 0 127 |+ 1 132 [#+ 0
2.8 038 |+ - 042 |#B+ - 054 |18+ - 044 |$#E+ - 035 |#+ - 052 |18+ 1 042 |18+t - 047 |#+ - 052 |#+ -
3.0 018 |#E+ 0 022 |+ 0 034 |+ 2 024 |+ 0 015 |#E+ 0 032 |#+ 1 022 |+ 0 027 |#E+ 0 032 |#E+ 1
4.0 -0.82 |#+ 0 -078 |#+ 0 -066 |HE+ 1 -0.76 |+ 0 -085 |#+ 0 -0.68 |1+ 1 -0.78 |+ 0 -0.73 |+ 0 -068 |#E+ 0
5.0 -1.85 |1+ 0

6.0 -285 1B+ 0

7.0 -3.85 | B& 0

8.0 -485 | BR 0

9.0 -585 | B% 0

10.0 -6.85 | BR 0
30migF H4

Hi g H4-1 H4-2 H4-3 H4-4 H4-5 H4-6 H4-7 H4-8 H4-9
ZE | ZE wm| nno | 2E wm| onso | 2E wm| onso | 2E lwm| owso | 2E wm| wso | 2E wE| mRo | AE wE| 880 | AE | wE| 80 | X | wE| #R0
(m) |rpm) |BEP| BE |7pm|BEF| BE |qpm B BE |[qpm |BEP| BE o |BF| BE |qpm B BE |[qpm|BEP| BE |qpm|BP| BE |qpm B BE
0.15 435 | B+ - 468 | BT - 471 | BEE - 437 | B+ - 457 | B+ 0 461 |BEE - 434 |BETE - 450 | B+ - 461 | B+ -
0.5 400 | B+ - 433 | B+ - 436 | B+ - 402 | Bt - 422 | @+ 0 426 | B+ - 399 | B+ - 415 | B+ - 426 | Bt -
0.8 370 | Bt - 403 |2+ - 406 |EE+ - 372 |EEE - 392 Bt 2 396 | @t - 369 |B@E - 385 |®E - 396 | Bt -
1.0 350 | B+ - 383 | @+ 386 | B+t - 352 | @+t - 372 | B+ 0 376 | @+ - 349 | B®L - 365 | @+t - 376 | B+ -
1.5 300 |t - 333 | @t - 336 | Bt - 302 | Bt - 322 | B+ 0 326 | Bt - 299 |B@t - 315 | Bt - 326 |B®L -
20 250 |18+ 0 283 |18+ 1 286 |1B+ 1 252 | @t - 272 | B+ 0 276 |8+ 0 249 |18+ 1 265 |18+ 0 276 | B+ -
24 210 |#+ - 243 |#B+ - 246 |18+ - 212 [#8+% - 232 | B+ 0 236 |#E+ - 209 |18+ - 225 |18+ - 236 |#+ -
3.0 150 |8+ 4 183 |t 4 186 |+ 0 152 |8+ 2 172 |8+ 4 176 |#B+L 2 149 |8+ 1 1.65 |8+ 1 1.76 |8+ 0
3.3 120 [#+ - 153 |[#+ - 156 |#+ - 122 [#+ - 142 |+ 3 146 |#E+ - 119 [#+ - 135 |#+ - 146 |#+ -
4.0 050 |1+ 1 083 |1+ 2 086 |1E+ 1 052 |1+ 0 072 |18+ 0 076 |1B+ 2 049 |1E+ 1 065 |+ 1 076 |18+ 3
5.0 -050 |#+ 0 -0.17 [#+ 0 -0.14 |+ 0 -048 |+ 0 -0.28 |+ 0 -0.24 |1+ 1 -051 |#+ 0 -035 |+ 0 -024 |+ 1
6.0 -1.28 |+ 0

7.0 -2.28 |18+ 0

8.0 -3.28 |iE+ 0

9.0 -4.28 |18+ 0

10.0 -528 |iE+ 0
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HFE=

Ze
[

5
%= 3.5.113) #FhiGitEEH (BEERVRMEBXEEZRZFTEM) ISTHMS IMIEFICETHHRDAERZR—E
30mIEF H5
S H5—1 H5-2 H5-3 H5-4 H5-5 H5-6 H5—7 H5-8 H5-9
ZE | 22 [wm| nno | 2E wm| ao | 22 wm| ao | 22 em| ano | 2 em| sno | 25 em| sno | 25 em osno | 2E wE 8o | 22 wE | o8R0
M) |apm|EA| BE |qpm) |BA) BE |qpm B4 BE |qpn) |BR) BE |qpw B4 BE |qpn) |BR| BE | qpw B BE |qpn) | BP) BE |qgpm |E4) BE
0.15 425 |t - 451 2% - 4.66 2% - 433 | @t - 459 | B+ 0 470 | B+ - 4.39 ®t - 459 | @+ - 468 |t -
0.5 390 | B+ - 416 | B+ - 431 | B+ - 398 | B+ - 424 | B+ 0 435 | B+ - 404 | B+ - 424 | B+ - 433 | B+ -
1.0 340 |t - 366 |Et - 381 |E+ - 348 | B+ - 374 | Bt 2 385 |E+t - 354 |EE+ - 374 | BBt - 383 |Et -
15 290 |+ - 3.16 2% - 3.31 2% - 298 | B+t = 324 |+ 2 3.35 Bt - 3.04 |+ - 324 | B+ - 333 | B+ -
20 240 |t - 2.66 Bt - 2.81 Bt - 248 |t - 274 | Bt 2 2.85 Bt - 254 | Bt - 274 | Bt - 283 | Bt -
2.2 220 |t - 2.46 2% - 2.61 #t - 228 | B+t - 254 |+ 2 2.65 2% - 234 | BT - 254 | BT - 263 | Bt -
3.0 140 |18+ 0 1.66 il 1 1.81 bl 0 148 |18+ 0 174 |18+ 2 1.85 bl 0 154 |18+ 0 174 |8+ 0 183 |1+ 0
40 040 |1E+ 0 0.66 biile ol 1 0.81 #t 0 0.48 Bt 0 074 |1BLt 1 0.85 il ol 0 054 |+ 0 074 |t 0 083 |#EL 0
5.0 -0.60 |+ 0 -0.34 |+ 0 -0.19 |1+ 0 -052 |+ 0 -026 |+ 0 -0.15 |+ 0 -046 |1E+ 0 -0.26 |18+ 0 -0.17 |8+ 0
60 | -160 [#L]| 0 | -1e4 |[BE| 0 | 119 || 0 | -152 [#L| 0O | -126 [#E| 0O | 115 |®E| 0 | -146 |[®L| 0 | -126 [#Lf]| 0 | -117 [EL| 0
7.0 226 [®BE| 0
8.0 326 [BL| 0
9.0 426 |BL| 0
9.9 516 [BE] 0
30mi&F H6
s H6—1 H6-2 H6-3 H6—4 H6-5 H6-6 H6—7 H6-8 H6-9
ZE | ZE wm| onno | 2E wm| owgo | 2E wm| oago | 2E lwm| owso | 2E wm| wso | 2E wm| mfo | 2E w@| 80 | AE 0@ | 80 | SE | wE| B0
(m) |apm B | BE |qpm |BP| BE |qpm |BP| BE |qpm|EH) BE |qpm|EP| BE |qpm|EP| BE |qpm EP| BE |qpm|EP| BE [qpm EP| BE
0.15 446 |+ - 456 2% - 472 2% - 442 | B+ = 461 Bt 0 481 2% - 3.07 2% - 3.01 2% - 308 | &+t -
0.5 411 | Bt - 421 | B+ - 437 | Bt - 407 | Bt - 426 |t 0 446 | Bt - 272 | Bt - 266 |t - 273 | Bt -
1.0 3.61 2% - 3.7 2% - 3.87 2% - 357 | @&t - 376 |t 0 3.96 2% - 2.22 2% 216 | B+t 223 | @+
1.5 311 | Bt - 321 | B+ - 337 | B+t - 307 | Bt - 326 | Bt 2 346 |+t - 172 |18+ - 166 |1+ - 173 |18+ -
2.0 2.61 mt - 2.1 2% - 2.87 2% - 257 | B+t - 276 |t 2 2.96 2% - 1.22 #t 0 1.16 |[#E+ 0 123 |+t
25 211 |8+ - 221 | B+ 237 | B+ - 207 |#+ - 226 | B+ 1 246 | B+ - 072 |+ - 066 |1+ - 073 |+ -
2.8 1.81 #t - 1.91 bl ol - 2.07 #Et - 177 |#Ex - 196 |+t 2 2.16 2% - 0.42 #t - 036 |+ - 043 |1E+ -
3.0 1.61 12+ 1 1.7 b ol 1 1.87 bkl 0 157 |1+ 0 1.76 |81 0 1.96 b ol 0 0.22 bkl 0 016 |t 0 023 |+ 0
40 0.61 Bt 0 0.7 bl ol 0 0.87 i 0 0.57 piihant 0 0.76 piiha t 1 0.96 b ol 1 -0.78 |+ 0 -0.84 |1+ 0 -0.77 | B+ 0
5.0 -039 |+ 0 -029 |+ 0 -0.13 |+ 0 -043 |+ 0 -024 |+ 0 -004 |+ 0 -1.78 |+ 0 -184 |8+t 0 -1.77 | B+t 0
60 | —139 (L] 0 | -120 |[®BE| 0 | 113 || 0 | -143 [#BL| 0 | -124 [#E]| 0 | 104 [®BE| 0 | 278 [®L| 0 | 284 L] 0 | 277 |[BL| 0
7.0 224 [BL| 0
8.0 324 [BE| 0
9.0 424 B 0
9.1 434 BT 0
30mIEF T
Hh H7-1 H7-2 H7-3 H7-4 H7-5 H7-6 H7—7 H7-8 H7-9
ZE | 22 (wm| nno | 2E wm| ao | 22 wm| ao | 22 bem| ano | 2 em| ano | 25 wm 8o | 25 wE o8R0 | 25 wE| 820 | 2Z wE| 820
m) |apm B BE |qpm |BEH| BE |qpm |EP| BE |qpm |BEP| BE |qpm |BEP| BE |qpm |BEP| BE |qpm|BEP| BE |qpm |BEF| BE |qpm|EF| BE
0.15 313 | @+ - 3.05 2% - 3.08 2% - 314 | BT - 3.17 Bt 0 3.21 2% - 3.23 2% - 324 | BT - 3.31 Bt -
0.5 278 | Bt - 270 |B%% - 273 | Bt - 279 |t = 282 |t 0 2.86 Bt - 288 |t - 289 | Bt = 296 |t =
09 238 |+ - 230 | Bt - 2.33 #t - 239 | Bt - 242 | Bt 0 246 2% - 248 Bt - 249 | Bt - 256 |1E+ -
1.0 228 |+ 0 220 |+ 0 2.23 i 0 229 |BE+ = 232 |1+ 0 2.36 2% - 238 |+ - 239 |BE+ = 246 |1+ 0
20 1.28 Bt 0 1.20 bl ol 0 1.23 #+ 1 1.29 1+ 0 1.32 Bt 2 1.36 il ol 1 1.38 #t 0 1.39 1+ 2 1.46 bl ol 0
3.0 028 |®x| 0 | 020 |[Bx| 0 | 023 ||| 1 020 |#%| 0 | 032 |[Bx| 0 | 036 |[®t| 0 | 038 [#E| 0 | 030 |#f| 0 | o046 [Bx| 0
4.0 -072 |18+ 0 -0.80 |+ 0 -077 |18t 0 -071 | Bt 0 -0.68 |12+ 0 -064 |1EL 0 -062 |1t 0 -0.61 1B+ 0 -054 1B+ 0
5.0 <168 [BL| 0
6.0 268 |[BL| 0
7.0 -368 |1+ 0
75 418 BT 0
30mIEF H10
Hh Hi0- H10-2 H10-3 H10-4 H10-5 H10-6 H10-7 Hi0-8 H10-9
ZE | 22 (wm| nno | 2E wm| ano | 22 wm| ano | 22 em| ano | 25 em| 8o | 25 wE 80 | 25 wE o8R0 | 25 wE 820 | 2Z | wE | 820
(m) |apm B BE |qpm | BP| BE |qpm |BH BE |qpm|EH BE |qpm |EH BE |qpm|EF BEE |qpm EP) BE |qpm|EF) EE g X7 EE
0.15 344 |mt| - 335 |mt| - 331 |mt| - 340 |mt| - 336 [mt| 0 317 |mt| - 339 |mt| - 335 |mt| - 315 |mt| -
0.5 309 |t - 300 |t - 296 | Bt - 305 Bt - 3.01 25 0 2.82 Bt - 304 |BL - 300 | B+t - 280 |t -
1.0 259 |+ 0 250 |+ 0 2.46 #t 0 255 Bt 0 2.51 piihe ot 0 2.32 piile ol 0 254 |+ 0 250 | Bt - 230 |+ 0
20 159 [t 2 150 [#EL| 4 146 L] 0 155 [®BL| 0 15 [#BL| 0 182 [#L]| 0 154 [®BL]| 0 150 |®L| 0 130 [#L| 0
25 109 |+ - 100 |+ - 0.96 #t - 1.05 Bt 1 1.01 piihe ot - 0.82 il ol - 104 |11 - 100 |i#E+ - 080 |##EL -
3.0 059 |+ 1 050 |+ 0 0.46 il ol 1 055 |+ 0 0.51 b ol 0 0.32 b ol 1 054 |iE+t 0 050 |t 0 030 |1##B+ 0
40 -041 |+ 1 -050 |+ 0 -054 |+ 0 -045 |+ 0 -049 |+ 0 -068 |+ 0 -046 |1t 0 -050 |+ 0 -0.70 |+ 0
5.0 RV REEIN)
6.0 -249 | BRA 0
7.0 -349 | AR 0
8.0 -449 | BRA 0
9.0 -549 | BA 0
10.0 -6.49 | BA 0
30mIEF 13
i J3-1 J3-2 J3-3 J3-4 J3-5 J3-6 J3-7 J3-8 J3-9
ZE | 22 (wm| nno | 2Z wm| ao | 22 wm| ao | 22 em| ano | 25 em| smo | 25 wE 8o | 25 wE o8R0 | 2E wE 820 | 2Z wE | 820
(m) | rpm) |BP| BE |[(7pm |EP| BE |qpm BT BE |qp) |EF| BE | o) |EP| BE [ o) K9] BE | qpn |BF| BE | o |BF| BE |4 B9 BE
0.15 403 |t 1 397 |[fiA 1 3.97 #t 1 389 |+ 0 393 |t 0 3.98 piile ol 0 263 |+ 0 3.02 Bt 0 403 |E+% 0
1.0 318 |#+ 1 3.12 biile ol 1 3.12 ik 2 304 |+ 0 308 |+ 0 3.13 bt ol 0 1.78 i 0 217 |+ 0 318 |#+ 1
20 218 |+ 1 212 biile ol 2 2.12 #t 2 2.04 Bt 0 208 |+t 1 213 il ol 0 0.78 #t 1 117 |+ 1 218 |8+t 0
3.0 18 ||| 1 12 B o0 112 [®E| 0 104 [BE| 0 108 [ 0 113 [#x]| 0 | 022 [#Bf] 0 | 017 |[Bx| 0 118 x| 0
40 o1s [BL| 1 012 |®E| 1 012 [#E]| 0 | 004 || 0 | 008 [#L| 0 | o1s [®E]| 0 | -122 [®E| 0 | 083 L] 0 | o1s [#L| O
5.0 092 [®BX| 0
55 -142 |8+ 0
30mIEF J9
Hh = J9-1 J9-2 J9-3 J9-4 J9-5 J9-6 J9-7 J9-8 J9-9
ZE | ZE wm| onno | ZE wm| owso | 2E wm| nso | 2E lwm| owso | 2E wm| wso | 2E wm| mso | 2E wE| 880 | AE | wE| 80 | X | wE| 820
(m) |rpm) |BEP| BE |7pm|BEF| BE |qpm B BE |qpm |BEP| BE |5 |BF| BE |qpm|BY| BE |qpm |BEP| BE |qpm|BP| BE |qpm BF| BE
0.15 311 | &t - 321 | B+ - 318 | Bt - 328 | BTt - 338 | B+ 0 332 | B+ - 342 |EE - 346 | ETE - 336 | #@t -
05 276 |®mE| - 286 |@mE| - 283 |BE| - 203 |®t| - 303 |mt| 2 207 |BE| - 307 |mt| - 311 |mt| - 301 |mE| -
1.0 226 |+ - 2.36 2% - 2.33 il 0 243 | BT = 253 | @+ 2 247 b ol 0 2.57 Bt - 2.61 Bt - 2.51 Ht+ 0
11 216 |#E+ = 226 |+ - 223 |+ - 233 |+ - 243 | Bt 0 237 |8+ - 247 |8+ - 251 | Bt = 241 | B+ -
2.0 126 [#Bx| 0 136 [#Ex| 0 133 @] 1 143 [BE| 0 153 [#Bx| 0 147 [#B]| 0 157 [Bx| 0 161 [BE] 0 15 [#Bx] 0
3.0 026 |1E+ 2 0.36 bii ol 0 0.33 il 0 043 |18+ 0 053 |iE+ 0 0.47 bii ol 0 0.57 il 0 0.61 1+ 0 0.51 biile ol 0
40 -0.74 | B+ 0 -0.64 |#EL 0 -067 |+ 0 -057 |+ 1 -047 | B+t 0 -053 |+t 0 -043 | L 1 -0.39 |#E+ 0 -049 |+ 0
50 | 174 (1] 0 | 164 |[®BE| 0 | 167 || 0 | 157 [#L| 0 | 147 (L] 3 | 153 [®BE| 0 | 143 [®L| 1 | 139 (@] 2 | -140 L] 0
6.0 -2.74 | B+ 0 -264 | B+ 0 -267 |#EBL 0 -257 |+ 0 -247 |8+ 0 -253 | B+ 0 -243 | B+ 0 -239 |+ 0 -249 |8+ 0
70 | 274 [®x] 0 | 364 |[®E| 0 | 367 |[®BL| 0 | 857 |[@L| 0 | 847 [BE| 0 | 353 |EA| 0 | 343 [#L| 0 | 239 [®Lf| 0 | 849 |[EBE| 0
7.9 -437 |18+ 0
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HRFEH
#=3.5.1(4) #HMEFFTEER (BERVRMBEXEERERFTEM) [THMD IMBEFICEITOIHRDAERER—E
30miE T K4
s Ka—1 Ka—2 Ka—3 Ki—4 K4—5 K4—6 Ka—1 K4-8 K4-9
RE i’g WE | mED ?Ef;% HRE | RO §§ HRE | RO f:ﬁ% | mED ﬁ% RE | RO 5‘;;; HRE | RO §§ HRE | RO iﬁg HE | RO §§ WRE | mED
m) fapm B BE |qpm |BP| BE |qpm) |BD| BE |qpm | BEP| BE [qpm|EH) BE |qpn |BP| BE |qpn) |BP| BE |qpm BP| BE [qpm|EH) BE
0.15 249 |+ 0 250 |+ 0 252 |+ 0 243 |+ 0 254 |1+ 0 250 |+ 0 257 |+ 0 256 |+ 0 260 |+ 0
1.0 164 ®E| 0 165 |®E| 0 167 |®E| 0 158 |®E| 0 169 |®E| 0 165 |BE| 0 172 |Bx] 0 IREEEIE 175 |Bx| 0
1.5 1.14 Bt - 1.15 bl ol - 1.17 it - 1.08 B+ - 1.19 #t - 1.15 il - 1.22 #t - 1.21 L+ 1 1.25 Bt =
2.0 064 [Bx| 0 | 065 |®x| 0 | 067 |[Bx| 0 | 058 |[Bx| 0 | o6e |®Bx| 0 | 065 [Bx| 0 | 072 |[®x| 0 | o1l |®Ex| 1 075 |BE| 0
3.0 -0.36 |#E+ 0 -035 |#+ 0 -033 |+ 0 -042 | 1Bt 0 -031 |#+ 0 -035 |#+ 0 -028 |1+ 0 -029 |+ 0 -025 |#+ 0
40 -131 |1+ 0
5.0 231 [#BE| 0
6.0 331 |BR| 0
7.0 -431 | B& 0
8.0 -531 | B%& 0
9.0 -6.31 | B% 0
10.0 31 8% 0
30mIEF K7
o Ki-1 Ki—2 Ki-3 Ki—4 Ki-5 Ki-6 Ki—7 K7-8 K7-9
ZE | ZE wm| onno | 2E wm| ongo | 2E wm| onso | 2E wm| owgo | 2E wm| wRo | AE wE| 8o | AE w8 | 820 | AE | wE| 80 | X | wE| 80
(m) |7pm |BEP| BE |1pm|BF| BE |qpm |BY| BE |[qpm |BEP| BE |qpm | BP| BE |qpm |BY| BE |qpm|BP| BE |qpm BP| BE |qpn, BP| BE
0.15 334 | B+ - 333 | B+ - 328 | B+ - 330 | B+ - 335 | B+ 0 327 | B+ - 331 | B+ - 351 | B+ - 343 | B+ -
0.5 299 |E®t - 298 |+ - 293 | B+ - 295 | B+ - 300 |t 2 292 | Bt - 296 |EBt - 316 | Bt - 308 |®t -
0.8 269 |+ - 268 |t - 263 | BT - 265 |#E+ - 270 |+ 2 262 |1+ - 266 |EE+ - 286 | BT - 278 | @+ -
1.0 2.49 biile ol 0 248 biie ol 0 243 il 0 245 B+ 0 2.50 bl 0 242 biile ol 0 2.46 it 0 2.66 L+ 0 2.58 biile ol 1
2.0 149 (B 0 148 [BEX| 0 143 |Bx| 0 145 |®E| 0 150 |Bx| 2 142 [Bx| 0 146 |BL| 0 166 |®E| 0 158 B 0
3.0 049 |+ 0 048 |+ 0 043 |+ 0 045 |+ 0 050 |+ 0 042 |+ 0 046 |#E+ 0 066 |+ 0 058 |+ 0
40 -051 | B+ 0 -052 |+ 0 -057 |+ 0 -055 |+ 0 -050 |+ 0 -058 |+ 0 -054 |+ 0 -034 |+ 0 -042 |+ 0
5.0 S50 B 0
6.0 250 [BE| 0
7.0 350 [BE| 0
8.0 450 L] 0
9.0 550 [BE| 0
9.5 600 || 0
30mIEF K8
S K81 K8—2 K8—3 K84 K85 K8-6 Ke—7 K88 K8—9
ZE | ZE wm| onno | 2E wm| ongo | 2E wm| oago | 2E lwm| wso | 2E wm| wso | 2E wm| mmo | 2E w@| 80 | 2E e8| 80 | AE | wE| 820
m) |apm B BE |qpm EF| BE |qpn |EF| BE |qpny | EF| BE |qpn EF| BE | qpn |EF| BE | qpn |EP| BE | qpn EF| BE | qpn, |EF| BE
0.15 337 | B+t - 3.41 2% - 338 |+ - 336 | BT = 341 Bt 0 3.38 | B+ - 338 |+t - 338 | Bt - 335 | Bt -
0.5 302 |B®% - 306 |t - 303 |t - 3.01 Bt - 306 |t 2 303 |t - 303 |t - 303 |t - 300 | % -
0.6 292 |+ - 296 | B+ - 293 | B+ - 291 2% - 296 | Bt 2 293 | B+ - 293 | BT - 293 | B+t - 290 |+ -
1.0 252 |1+ 1 256 |1+ 0 253 |+ 1 251 1+ 1 256 |1+ 0 253 | Bt - 253 | Bt - 253 |+ 1 250 |+t -
19 162 |1 - 166 |iEL - 163 |#EL - 1.61 Hi 2 166 |iEL - 163 |1 - 163 |1 - 163 |+ - 160 |EL -
2.0 152 |1+ 0 156 |+ 0 153 |1+ 0 1.51 Bt 1 156 |1+ 0 153 |+ 0 153 |+ 3 153 |1+ 0 150 |1+ 0
2.2 132 |+ - 136 |iEL - 133 |+ - 1.31 Ht - 136 |+ 4 133 |+ - 133 |+ - 133 |[#E+ - 130 |+ -
3.0 052 |+ 0 056 |1+ 0 053 |+ 0 0.51 jiilaad 0 056 |+ 0 053 |+ 1 053 |[#+ 1 053 |+ 1 050 |+ 2
34 042 |Bx| - 046 |EBE| - 043 |BE| - 041 |BE| - 046 |BE| - 043 |BE| | 043 |BE| - 043 [BE| - 040 [BL| -
4.0 -048 |+ 0 -044 |+ 0 -047 |+ 0 -049 |+t 0 -044 |B+ 0 -047 |+ 0 -047 |+ 2 -047 |8t 2 -050 |+ 2
50 -148 |+ 0 -144 | B+ 0 -147 |8+ 0 -149 |1+ 0 -144 |18+ 0 -147 |8+ 0 -147 |81 2 -147 |+ 1 -150 |8+ 1
6.0 244 [BE| 0
7.0 344 L] 0
8.0 -444 | BR 0
9.0 -544 | B& 0
10.0 -6.44 | BR 0
30mIE T K9
oS K91 Ko—2 Ko—3 Ko—4 K95 K9-6 Ko—7 K9-8 K9-9
BE 7?'_5% W | RO ’?';Z% WRE | RO ;ﬁg HE | R0 >’f§ | R0 7§§ W | mED ’?';Z% HE | D @g HE | R0 ‘jg | RO ;§ W | HED
(m) |rpm |BEP| BE |(1pm|EF| BE |qpm B BE |qpm |EP| BE |10 |BEF| BE |qpn|BEY| BE |qpmn |BEP| BE |qpm|BEF| BE |qpm BF| BE
0.15 325 |mEt| - 322 |mEt| - 322 |mE| - 331 |mE| - 330 |®Et| 0 333 |mEt| - 329 |mE| - 336 | mE| - 331 |mEt| -
0.5 290 |+ - 287 |t - 287 | Bt - 296 | B+t - 295 | B+t 0 298 | Bt - 294 | Bt - 3.01 Bt - 296 |t -
0.7 270 | B+ - 267 |B+ - 267 |+ - 276 | B+ - 275 | B+ 0 278 | B+ - 274 1B+ - 281 | B+ - 276 |+ -
1.0 240 |t - 237 |+ 1 237 |+ 1 246 |+ 0 245 |18+ 0 248 |iE+ 0 244 |+ 0 251 1+ 0 246 |1B+ 0
2.0 140 |18+ 1 137 |+ 0 137 |#+ 0 146 |1+ 0 145 |18+ 0 148 |1+ 0 144 |1+ 2 1.51 #t+ 0 146 |18+ 0
30 040 (L] 0 | 037 |®mE| 0 | 087 |®L| 0 | 046 |Lf| 0O | o4s [#L| 2 | o4 |mL| 0 | 044 |#L| 0 | os1 [#L]| 0 | o4 [EL| 0
4.0 -0.60 |+ 0 -063 |+ 0 -063 |+ 0 -054 |8+t 0 -055 |+ 0 -052 |#+ 1 -056 |+ 0 -049 |+ 0 -054 |+ 1
5.0 -160 |18+ 0 -163 |18+ 0 -1.63 |1+ 0 -154 |18+ 0 -155 |18+ 0 -152 |18+ 0 -156 |1+ 0 -149 |18+ 0 -154 |18+ 0
6.0 255 [BE| 0
7.0 355 |#BL| 0
7.6 415 [®Bt] 0
30migF L7
oS L7-1 [7-2 [7-3 C7-4 L7-5 L7-6 77 [7-8 7-9
BE 7§§ HE | mED ’?';g% HE | D ;ﬁg HE | R0 fg% | mED 7?';% | mED ’;:g% HE | D ;gg HE | R0 gg | HED fgg | mED
(m) |rpm) |BEP| BE |(7pm|EF| BE |qpn |BF| BE |[qpm |ER| BE | 0 |EF| BE |qpn) |EF| BE |qpn |ER| BE |qpn B BE | qpn, | BF EE
0.15 321 |®E| - 333 |mE| - 321 |®mE| - 331 |mE| - 338 |®Et| 0 230 |BEt| - 334 |mE| - 348 |mE| - 238 |mEt| -
0.5 292 |+ - 298 | B+ - 292 |+ - 296 | BT - 303 | @t 0 195 |+ - 299 | B+ - 313 | Bt - 203 |+ -
1.0 242 |18+ 1 248 |1+ 0 242 | B+ 0 246 |+ 1 253 |t 0 145 |1E+ 0 249 |+ 1 263 |t = 153 |iE+ 0
2.0 142 |8+ 1 148 |1E+ 0 142 |1+ 0 146 |1+ 0 153 |+ 0 045 |+ 0 149 |+ 1 163 |+ 0 053 |iE+ 0
3.0 042 |BE| 1 048 x| 0 | o42 [BE| 0 | 046 |mt| 1 053 [#Bx| 0 | 055 |®Bt| 0 | 049 |®x| 1 063 [#Bx| 0 | 047 |®BE| 0
40 -058 |1+ 0 -052 |1+ 0 -058 |1+t 0 -054 |18+ 1 -047 |18+ 1 -155 |18+ 0 -051 |1+ 1 -037 |8+ 0 -1.47 |18+ 0
5.0 -158 | B+ 0 -152 |+ 0 -158 |+ 0 -154 |8+ 0 -147 |+ 0 -255 |+ 0 -151 |8+ 1 -1.37 |+t 0 -247 | B+t 0
60 | 258 (81| 0 | 252 |[®t| 0 | 258 || 0 | 254 L] 0O | 247 (L] 0 | 355 |®L| 0 | 251 |®Lf| 0 | 237 [#Lf] 0 | 847 [BL| 0
7.0 3471 [BE| 0
8.0 447 |[BL| 0
9.0 -547 |+ 0
10.0 647 |8 0
30mIEF L8
oS L8-1 82 83 L84 185 186 087 3-8 [8-9
ZE | 22 (wm| nno | 22 wm| ano | 22 wm| ano | 22 em| 8o | 25 wE| 8o | 25 wE o8R0 | 25 wE R0 | 25 wE 8R0 | 2X wE | #R0
(m) |apm|BEH| BE |qpm |BH| BE |qpm |BF| BE |qpn|BF| BE |qpn|BF BE |qpn|BF BE |qpn |BY BE |qpn BF| BE |[qpn P BE
0.15 336 | Bt - 345 | B+ - 2.51 2% - 342 | BT = 346 |+ 0 250 |B+ - 3.41 2% - 342 | BT - 274 | B+ -
0.5 301 | Bt - 310 | B+ - 216 |+ - 307 | B+ - 311 | @t 0 215 |+ - 306 | B+ - 307 | B+ - 239 |+ -
1.0 2.51 ®t - 260 |ET - 166 |1+ 0 257 | Bt - 2.61 Bt 0 165 |11 0 256 |+ 1 257 |#E+L 0 189 |+ 0
14 2.11 il - 220 |+ - 126 |1+ - 217 |+ - 221 25 0 125 |+ - 216 |+ - 217 |+ - 149 |1+ -
2.0 1.51 piiila 0 160 |1EL 0 066 |iEL 0 157 |+ 0 1.61 Bt 0 065 |+ 0 156 |1+ 0 157 |+ 0 089 |iE+ 0
3.0 0.51 i 2 060 |1+ 0 -0.34 |1+ 0 057 |+ 0 0.61 b ol 0 -035 |+ 1 056 |+ 1 057 |+ 0 -0.11 |#+ 0
40 | 049 8| 0 | o040 [BE| 0 | -134 |[Bx| 1 | 043 |[BL| 0 | 039 |[Bx| 0 | -135 [@BL| {1 | 044 [BE| 1 | 043 |[BE| 0 | 111 |[BLX| 0
5.0 -149 |+ 0 -140 |+ 0 -234 |8+ 0 -143 |#B+% 0 -139 |+ 0 -235 |+ 1 -144 |8+ 0 -143 |+ 0 -2.11 | B+ 0
6.0 -249 |+ 0 -240 |+ 0 -334 |+ 0 -243 |18+ 0 -239 |+ 2 -335 |#+ 0 -244 |18+ 0 -243 |1+ 0 -3.11 |+ 0
70 -349 |+t 0 -340 |+ 0 -434 |+ 0 -343 |+ 0 -3.39 |+t 1 -435 | B+t 0 -344 |+ 0 -343 |+ 0 -411 |+t 0
8.0 -449 |8+ 0 -440 |+ 0 -5.34 |1+ 0 -443 |18+ 0 -439 |+ 0 -5.35 |+ 0 -444 |18t 0 -443 | B+ 0 -5.11 |#+ 0
9.0 -549 | B& 0 -540 |+ 0 -6.34 |+t 0 -543 | B 0 -5.39 |+ 0 -6.35 |+t 0 -5.44 | B 0 -543 |+ 0 -6.11 | B+t 0
10.0 639 B 0
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